
1

1

UMP1
11.09.2020

RM-INS148

DH-SMP



1,2,3...

T
O

O
L

S
 R

E
Q

U
IR

E
D

F
O

R
 A

S
S

E
M

B
L

Y
D

O
N

T
 S

T
R

U
G

G
L

E
2 

M
A

N
 L

IF
T

A
L

W
A

Y
S

 H
A

N
D

L
E

IT
E

M
S

 W
IT

H
 C

A
R

E
IF

 U
N

S
U

R
E

 C
A

L
L

F
O

R
 A

S
S

IS
T

A
N

C
E

K
E

E
P

 F
IT

T
IN

G
S

 A
W

A
Y

F
R

O
M

 C
H

IL
D

R
E

N

2

4mm



LH SIDE
RM-SID239

TOP
RM-TOP458

BASE
RM-BAS085

BACK
RM-BAC158

LH SIDE
RM-SID240

Please check that you have all the panels

3

1
DH-SMP

SINGLE MOBILE PEDESTAL

Please check that you have all the hardware

24mm QUICKFIX PIN
RM-BLT006

15mm QUICKFIX CAM
RM-CAM03

70mm CONFIRMAT SCREW
RM-CFM02

QUANTITY - 4 QUANTITY - 4 QUANTITY - 5

QUANTITY - 1

50mm CASTOR WITH PLATE

QUANTITY - 4 QUANTITY - 16

CONNECTOR SCREW
RM-PIN01

QUANTITY - 5

ALLEN KEY 4MM
RM-ALK01

4 x 20mm WOOD SCREW
RM-SCR37



4

3
Step 3
Insert cams & pins into the pre drilled holes on
the back panel.

1
Step 1
Insert pins into the pre drilled holes on the LH
side panel.

2

Qty 2

BLT07

Qty 2

PIN01

Step 2
Insert pins into the pre drilled holes on the RH
side panel.

Qty 4

CAM03

Prepare all the panels by inserting the listed fittings into the corresponding holes.

Qty 2

BLT07

Qty 2

PIN01

Qty 1

PIN01



5

5
Step 5
Attach the top panel to unit.

Once the cams and pins are
engaged ensure that the
cams are fully tightened.

4
Step 4
Attach the sides to back
panel.

Once the cams and pins are
engaged ensure that the
cams are fully tightened.

Join the panels together and tighten all cam fittings



6

7

6

Step 7
Attach the 4 castor plates
the base of the unit.

Each plate should be
attached using 4 of the
4x20mm wood screws
provided.

Once attached knock
castors on the plate.

Step 6
Attach the base to the unit
using the confirmat screws
provided.

A 4mm Allen key is required
to insert the screws.

Ensure they are fully
screwed in before
attemtping to attach the
castors.

70mm CONFIRMAT SCREW
RM-CFM02

QUANTITY - 5

4 x 20mm WOOD SCREW
RM-SCR3750mm CASTOR WITH PLATE

QUANTITY - 16QUANTITY - 4



7

8
Step 8
Stand the unit upright and
position in your desired
location.



1

1

CSI-S
11.09.2020

RM-INS145

DH-RS



SHELF
RM-SHE040

Please check that you have all components

2

1
DH-RS

REMOVABLE SHELF

EXPANDING WEDGEFIX
SY3151

QUICKFIX DOWELS
SY3152

QUANTITY - 4 QUANTITY - 4

1
Step 1
Insert shelf fittings into the pre drilled holes on
the shelf panel.

2
Step 2
Screw shelf fitting into the pre drilled holes on the
RH and LH side panels.

Prepare all the panels by inserting the listed fittings into the corresponding holes.

3
Step 3
Insert shelf panel in the section to have shelf & drop onto pins making sure they are fully engaged.



1 2

1

CSI-C
11.09.2020

RM-INS146

DH-SD
DH-SDHK



DOOR
RM-DOR094

Please check that you have all the hardware!

2
DH-SDHK

SINGLE DOOR HARDWARE KIT

Please check that you have all the panels!

2

1
DH-SD

SINGLE DOOR

M4 x 6mm SLOTTED SCREW
RM-SCR27

M4 x 20mm BOOK SCREW
RM-SCR28

QUANTITY - 2 QUANTITY - 2

QUANTITY - 2QUANTITY - 2

QUANTITY - 4

CLIP ON HINGE PLATE110' CLIP ON - SOFT CLOSE

3.5 x 15mm WOOD SCREW
RM-SCR26

1 2
Step 1
Place the hinges into the pre drilled holes on the
inside face of the door panel.

Step 2
Attach the hinges using the 3.5 x 15mm
wood screws, 2 screws per hinge.

Qty 4

SCR26

QUANTITY - 1

LEATHER STRAP HANDLE
RM-HDL18

Qty 2

5mm Door Stop Peg

QUANTITY - 1



3

4

3
Step 3
Attach leather handle to
door using binding screws
provided.

Slotted part of screw to the
inside of door.

Join the panels together and tighten all cam fittings

Step 4
Attach the hinge plates to
the pre drilled holes on the
inside face of the bookcase
side panels, these plates
are fitted with pre attached
screws.

Ensure the plate is fitted as
per diagram 1.

ED
G

E 
O

F 
U

N
IT

Diagram 1

Qty 2



4

5
Step 5
Attach door to the unit.  Diagrams 2 & 3 show how to lock the hinge to the plate.
Always lock the top hinge into place first before repeating for bottom hinge.

Once the door is attached insert the door stop peg to prevent the door from closing in too far.

Diagram 2

Ensure the hook of the hinge
locates into the hinge plate.

Fasten the hinge to the plate
by applying pressure here.

Diagram 3



1

1

CSI-D
11.09.2020

RM-INS147

DH-APC



Please check that you have all the components

2

1
DH-APC

SINGLE DOOR

1 2
Step 1
Remove the drawers from unit.

Step 2
Insert cartridge into desired location and fix
in place using wood screw into pre drilled
holes both sides.

Qty 2

SCR12

QUANTITY - 2

LEATHER STRAP HANDLE
RM-HDL18

M4 x 6mm SLOTTED SCREW
RM-SCR27

QUANTITY - 2

QUANTITY - 2

8 x 1 14 WOOD SCREW
RM-SCR12

M4 x 20mm BOOK SCREW
RM-SCR28

QUANTITY - 2



3

4

3
Step 3
Attach leather handle to
drawers using binding
screws provided.

Slotted part of screw to the
inside of drawer.

Join the panels together and tighten all cam fittings

Step 4
Insert both drawer boxes
back into the cartridge unit.

Qty 2

RM-SCR27 

Qty 2

RM-SCR28

Qty 2

RM-HDL18 



4

5
Step 5
Cartridge in position.


	Sheets and Views
	RM-INS148-PAGE 1
	RM-INS148-PAGE 2
	RM-INS148-PAGE 3
	RM-INS148-PAGE 4
	RM-INS148-PAGE 5
	RM-INS148-PAGE 6
	RM-INS148-PAGE 7




